
MARKING SCHEME - PRACTICE PAPER-  2020-21 

CLASS XII                            ECONOMICS (030) 

Q.No. ANSWERS Marks 

 PART A - MACRO ECONOMICS  

1. (c) National Income of a country 
Or 
(d) Rs 1000 

1 

2. (c) an intermediate good 1 

3 (b) Fiscal deficit; 1 

4. (b) B – ii                 1 
5. (a) Inverse 1 

6. (a) Current ,Capital                              1 
7. festive season 1 

8. (a) 6 months                                    1 
9. increase 1 

10. (d) 29%   1 

11. Intermediate goods: Intermediate goods are those goods which are within 

the boundary line of production and not ready for use by their final users. 

These goods are purchase for further sale or are to 

be use as raw material by the producers. example, coal used in factory  

Final goods: Final goods refer to those goods which used either for 

consumption or for investment. They are ready for use in the sense that no value 

has to be added. Example, milk purchased by household for consumption.  

3 

12. (a) False: Autonomous transactions take place in both current and capital 
accounts 
(b)True: Foreign investment are recorded in the capital account of BOP as it 
cause a change in assets of the country. 

Or 
The given statement is refuted .Deficit occurs due to autonomous 
transactions. To remove the deficit, accommodating transactions are carried 
out  

3 

13. Following observations may be noted in this regard: 

Observation 1: Credit creation accelerates the process of growth by 

expanding the availability of credit for purpose of investment. 

Observation2: Credit creation contribute to the process of growth by 

expanding size of the 

market (or aggregate demand), as the availability of credit for the purchase of 

consumer durables increases. 

2+2 

14. (i) For equilibrium level of income Y=C+I 
                       Y=100+0.7Y+500 
              Y-0.7Y=600 

2 
 



                       Y=2000 
Equilibrium level of income= 2000 
(ii)  Consumption(C) =100+0.7Y 
=100+0.7 X 2000=100+1400=1500 

Or 

(i)Ex-ante investments: Ex-ante investments refers to the amount of 

investments which investors plan to invest at 

different levels of income in an economy. 
 (ii) Involuntary unemployment: Involuntary unemployment refers to a 

situation in which all those people, who are willing 

and able to work at the existing wage rate, do not get work 

 
 
2 
 
 
2+2 

15. (i) To correct excess demand Central Bank can raise the bank rate. This forces 
commercial bank to increase lending rates. This reduces demand for borrowing by 
the public for investment and consumption. Aggregate demand falls. 
(ii)When there is excess demand Central Bank sells securities. This leads to flow of 
money out of the commercial bank to the central bank .This reduces deposits with 
the banks leading to decline in their lending capacity. Borrowing decline aggregate 
demand declines. 

2+2 

16. (i)Fees paid to mechanic by a firm are not included because it is an intermediate 
cost of the firm and to avoid the double earning. 
 (ii) Interest paid by an individual is not included because the loan is taken to meet 
consumption expenditure and therefore interest paid on such a loan is not a factor 
payment. 
(iii)Expenditure on purchase a car by a firm is included because it is an investment 
expenditure, a final expenditure. 

Or 

National Income by Income method 

= Mixed income of self-employed + Compensation of employees + Rent + 

Interest 

+ Profit + Net factor income from abroad 

= 35 + 250 + 75 + 25 + 100 + (-5)= 480 crores 

National income by Expenditure method 

= Final consumption expenditure of Private sector + Final consumption 

expenditure 

of government sector + Gross domestic fixed capital formation + (Closing 

stock – 

Opening stock ) + Net Exports – Consumption of fixed capital + Net Factor 

Income 

from abroad - Net Indirect Tax 

=350 + 100 + 70 + (25 - 15) + (10 - 20) -10 + (-5) -25; = 480 crores 

2+2+2 
 
 
 
 
 
 
3+3 

17. (1) Receipt from sale of shares of a public sectors undertaking is a capital 

receipt, as it causes reduction in assets of government. 

(2) Borrowing from public is a capital receipt, as it creates liability for the 

government. 

(4) Income tax received by government is revenue receipt, because it neither 

creates liability nor leads to reduction in asset of government. 
 

2+2+2 



 PART B - INDIAN ECONOMIC DEVELOPMENT  

18 (d) All of the above. 1 
19 (B) 1881 1 

20 a. Both Assertion (A) and Reason (R) are true and Reason (R) is the 

correct explanation of Assertion (A) 

 

1 

21 b. Both Assertion (A) and Reason (R) are true and Reason (R) is not the 

correct explanation of Assertion (A) 

 

1 

22 (c) C – iii    1 

23 (a) Agriculture                                      1 
24 food grains 1 

25 agriculture tools 1 
26 U.S. 1 

27 rural areas 1 

28  National Food for Work Programme (NFFWP): 

 It was launched in 2004 

 The objective of Intensifying the generation of supplementary wage employment 
 It was initially implemented in 150 most backward districts of the country 

 The Programme was implemented as a 100 percent Centrally sponsored scheme 

 This programme was incorporated in Mahatma Gandhi National Rural 

Employment Guarantee Act (MGNREGA) in 2005  
Or 

Green revolution: The combined use of HYV seeds and increased use of fertilizers and 
developed irrigation of production of food is called as Green revolution. 
It led to increase in the production of food grains especially of rice and wheat . 
Golden revolution:  Rapid growth in the production of the horticultural crops such as fruits 
,vegetables, flowers etc is known as Golden revolution . 
It led to increase in production of fruits, vegetables, flowers, spices etc . 

3 

29 (i) Because of availability of educational institutions regular salaried employees 

are more in urban areas than rural areas.  

As such they get better opportunities for their skill. 
(ii) Whereas ,in rural areas, majority of the people are illiterate and lack skills, 

which are needed for regular employment. 

3 

30 Fiscal policy reforms were undertaken to improve the expenditure and 

revenue policies of the government. The following steps were undertaken: 

(a)Tax Reforms: Tax rates were reduced, tax evasion was plugged and 

procedures were simplified. 

(b) Government expenditure was curtailed by cutting down on 

unnecessary expenses. Borrowings were reduced and all loss-making 

PSU’s were shut down. 

(c) Disinvestment in PSU’s was undertaken to plug the budgetary deficit. 

4 

31 Import substitution policy aimed at replacing or substituting imports with 

domestic production. For example, instead if importing vehicles from abroad, the 

industries were encouraged to produce them in India itself. 

It was introduced in India because the government wanted to protect the domestic 

industries from foreign competition. It was assumed that if domestic industries are 

4 



protected, they will learn to compete in the course of time. 

Or 

Yes the Navratna policy of the government has helped in improving the 

performance a public sector undertaking in India.The government has 

decided to give special treatment to some of the important profit making 

PSUs and they were given the status of navratnas. These navratnas were 

granted financial and operational autonomy in the working of the companies. 

Some PSUs are IOCL,BPCL,ONGC,SAIL,BHEL,NTPC,MTNL,GAIL etc. 

32 China has succeeded in placing greater reliance on Industrial sector compared to 

India . It is due to  

(i) GLF , a campaign launched in China in 1958 focusing on widespread 

Industrialization of the Country . 

(ii) Policy of reforms and opening up launched in 1978 which gave big push to 

china’s manufacturing exports. 

 

4 

33 The following are the suggestions. 

. 1.Non-agricultural employment opportunities are to be created. 

2..creating awareness about the programmes initiated by the Govt among the 

rural people. 

3 Development of small – scale and cottage industries. 

4 Imparting technical knowledge to the rural people. (with brief explanation) 

Or 

The factors contributing to land degradation are: 

(a)Loss of vegetation due to deforestation 

(b) Unsustainable fuel wood and fodder extraction 

(c)Shifting agriculture 

(d) encroachment into forest lands 

(e) Forest fires and overgrazing 

(f) Non-adoption of adequate soil conservation measures 

(g) Improper crop rotation 

(h) Indiscriminate use of agro-chemicals such as fertilizers and pesticides 

(i) Improper planning and management of irrigation systems 

(any six points with brief explanation) 

6 

34 (a)False: India was an independent, prosperous and self sufficient economy 

before the British rule. 

(b) False: On-the-job-training is a source of human capital formation as it increases 

the skill and efficiency of the workers and leads to an increase in production and 

productivity 

(c) True: Coal is classified as a nonrenewable energy source because it takes 

millions of years to form. 

2+2+2 

 



अकं मोजना- PRACTICE PAPER-2  (2020-21) 

(ह िंदी भाध्मभ) 
कऺा XII      अथथशास्त्र (030) 

 

प्रश्न 

संख्मा 

उत्तय अकं 

  बाग A - सभष्टि अथथशास्त्र   

1 (c) ककसी देश की याटरीम आम 

मा 
(d) 1000 रुऩमे 

1 

2 (c) एक भध्मवती वस्त्त ु 1 

3 (b) याजकोषीम घािा; 1 

4 (b) b - ii                1 

5 (a) ववऩयीत 1 

6 (a) चारू ,ऩूंजीगत         1 

7 त्मोहायों का भौसभ 1 

8 (a) 6 भहीन े                                  1 

9 ववृि 1 

10 (d) 29%  1 

1 1 भध्मवती वस्त्त:ु भध्मवती वस्त्त ुव ेवस्त्तुएं होती हैं जो उत्ऩादन की 
सीभा येखा के अदंय होती हैं औय अऩन ेअतंतभ उऩमोगकताथओ ंद्वाया 
उऩमोग के लरए तैमाय नहीं होती हैं। मे वस्त्तुए ंआगे की बफक्री के लरए 

खयीदी जाती  हैं मा उत्ऩादकों द्वाया कच्च ेभार के रूऩ भें उऩमोग की 
जाती  हैं । उदाहयण के लरए, कायखान ेभें इस्त्तेभार ककमा गमा कोमरा । 
अतंतभ वस्त्त:ु अतंतभ वस्त्त ुव ेवस्त्तुएं होती हैं जो मा तो उऩबोग के लरए 

मा तनवेश के लरए उऩमोग की जाती  हैं । व ेइस अथथ भें उऩमोग के लरए 

3 



तैमाय हैं कक कोई भूल्म नहीं जोड़ना है। उदाहयण , उऩबोग के लरए गहृस्त्थ 

द्वाया खयीदा गमा दधू।   
12 (a) गरत: स्त्वामत्त रेनदेन चारू औय ऩूंजीगत दोनों खातों भें होत ेहैं 

(b) सही: ववदेशी तनवेश फीओऩी (B.O.P.)के ऩूंजीगत खात ेभें दजथ 
ककए जात ेहैं क्मोंकक मह देश की संऩष्त्त भें फदराव का कायण फनता है। 
                            अथवा  
ददए गए कथन का खडंन ककमा जाता है। स्त्वामत्त रेनदेन के कायण घािा 
होता है। घािे को दयू कयन ेके लरए, सभामोजन रेनदेन ककमा जाता है I 

3 

13 इस संफंध भें तनम्नलरखखत दिप्ऩखणमों ऩय ध्मान ददमा जा सकता है : 

तकथ  1: साख तनभाथण तनवेश के उदे्दश्म के लरए ऋण की उऩरब्धता 
का ववस्त्ताय कयके ववकास की प्रकक्रमा को तेज कयता है । 
 तकथ  2: साख तनभाथण फाजाय के आकाय (मा कुर भांग) के ववस्त्ताय से 

ववकास की प्रकक्रमा भें मोगदान देता है , क्मोंकक उऩबोक्ता को दिकाऊ 

वस्त्तुओ ंकी खयीद के लरए ऋण की उऩरब्धता फढ़ जाती है। 
 

 

2 + 2 

14 ( i ) आम के संतुरन के स्त्तय के लरए Y = C + I 

                      Y = 100 + 0.7Y + 500 

             Y -0.7Y = 600 

                       Y = 2000 

आम का सभतुल्म स्त्तय = 2000 

(ii) उऩबोग (C) = 100 + 0.7Y 

= 100 +( 0.7 X 2000) = 100 + 1400 = 1500 

                                  अथवा  
( i ) प्रत्याशित  निवेि   : प्रत्याशित  निवेि   से आशम उन तनवेशों की 
भारा से है जो तनवेशक ककसी अथथव्मवस्त्था भें आम के ववलबन्न स्त्तयों ऩय 

तनवेश कयन ेकी मोजना फनात ेहैं । 
 

(ii) अनैष्च्िक फेयोजगायी : अनैष्च्िक फेयोजगायी एक ऐसी ष्स्त्थतत को 

2 

  
  
  
2 

  
  
2 + 2 



संदलबथत कयती है, ष्जसभें व ेसबी रोग, जो वतथभान भजदयूी दय ऩय काभ 

कयन ेके इच्िुक औय सऺभ हैं, को काभ नहीं लभरता हैI 
 

15 ( i ) अततरयक्त भांग को ठीक कयन ेके लरए कें द्रीम फैंक, फैंक दय फढ़ा 
सकता है। मह वाखणष्यमक फैंक को ब्माज दय फढ़ान ेके लरए भजफूय 
कयता है। मह तनवेश औय उऩबोग के लरए जनता द्वाया उधाय रेन ेकी 
भांग को कभ कयता है। सकर भांग गगय जाती है।  

(ii) जफ अगधक भांग होती है तो कें द्रीम फैंक प्रततबूततमों की बफक्री कयता 
है। इससे वाखणष्यमक फैंक से धन का प्रवाह कें द्रीम फैंक भें हो जाता है। 
इससे फैंकों के ऩास जभा कभ हो जाता है, ष्जससे उनकी उधाय देने की 
ऺभता भें गगयावि आती है।  कुर भांग भें गगयावि आती है I 

2 + 2 

16 ( i) एक पभथ द्वाया भैकेतनक को दी गई पीस को शालभर नहीं ककमा 
जाता है क्मोंकक मह पभथ की एक भध्मवती रागत है औय दोहयी गणना से 

फचन ेके लरए।  

(ii) ककसी व्मष्क्त द्वाया ददमा गमा ब्माज शालभर नहीं है क्मोंकक ऋण 

उऩबोग व्मम को ऩूया कयन ेके लरए लरमा गमा है औय इसलरए इस तयह 

के ऋण ऩय ददमा गमा ब्माज एक कायक बुगतान नहीं है।  
(iii) एक पभम द्वाया काय खयीदने ऩय खर्म शामभर होगा क्मोंकक म  एक 

ननवेश व्मम है औय एक अिंनिभ व्मम  ै। 
                                 अथवा  
आम ववगध द्वाया याटरीम आम 

= स्त्व-तनमोष्जत की लभगित आम + कभथचारयमों का ऩारयिलभक + ककयामा 
+ ब्माज+ राब + ववदेश से शुि कायक आम 

= 35 + 250 + 75 + 25 + 100 + (-5) = 480 कयोड़ रुऩमे 

याटरीम आम, व्मम ववगध द्वाया 
= तनजी ऺेर का अतंतभ उऩबोग व्मम 

+ सयकायी ऺेर का अतंतभ उऩबोग व्मम + सकर घयेरू ष्स्त्थय ऩूंजी 

2 + 2 
+ 2 

  
  
  
  
  
  
3 + 3 



तनभाथण + (अतंतभ स्त्िॉक -आयिंमबक स्टॉक) + शुि तनमाथत - 

ष्स्त्थय ऩूंजी का उऩबोग + ववदेश से शुि कायक आम                                                            

- शुि अप्रत्मऺ कय 

= 350 + 100 + 70 + (25 - 15) + (10 - 20) -10 + (-5) -25 = 480 कयोड़ 

17 (i) सावथजतनक उऩक्रभों के शमेयों की बफक्री से प्राप्त प्राष्प्त एक ऩूंजीगत 

प्राष्प्त है, क्मोंकक मह सयकाय की ऩरयसंऩष्त्त भें कभी का कायण फनती है।  
(ii) जनता से उधाय रेना एक ऩूंजीगत प्राष्प्त है, क्मोंकक मह सयकाय के 

लरए दातमत्व उत्ऩन्न कयती है। 
(iii) सयकाय को प्राप्त आमकय याजस्त्व प्राष्प्त है, क्मोंकक मह न 

तो देमता उत्ऩन्न कयता है औय न ही सयकाय की ऩरयसंऩष्त्त भें कभी 
राता है। 

  

2 + 2 
+ 2 

             बाग B - बायतीम अथथव्मवस्त्था का ववकास   

18 (D. उऩयोक्त सबी। 1 

19 (B) 1881 1 

20 (a) अलबकथन (A) औय कायण (R) दोनों सत्म हैं औय कायण (R) 

अलबकथन (A) का सही स्त्ऩटिीकयण है ।  
1 

21 (b) अलबकथन (A) औय कायण (R) दोनों सत्म हैं औय कायण 

(R) अलबकथन (A) का सही स्त्ऩटिीकयण नहीं है। 
 

  

1 

22 ( c)  C - iii   1 

23 (a) कृवष से संफंगधत है                                                      1 

24 खाद्मान्न 1 

25 कृवष उऩकयण 1 

26 अभेरयका 1 

27 ग्राभीण ऺेर 1 

28  कामथ के लरए याटरीम खाद्म कामथक्रभ (NFFWP): 3 



मह 2004 भें शुरू ककमा गमा था 
 ऩूयक भजदयूी की ऩीढ़ी तेज कयन ेके उदे्दश्म योजगाय  

 म  शरुू भें देश के 150 सफसे पऩछड ेजिरों भें रागू ककमा गमा था 
 इसकाममक्रभ को 100 प्रनिशि कें द्र द्वाया प्रामोजिि मोिना के 

रूऩ भें रागू ककमा गमा था I 
 इस कामथक्रभ को 2005 भें भहात्भा गांधी याटरीम ग्राभीण योजगाय 

गायंिी अगधतनमभ (MGNREGA) भें शालभर ककमा गमा था I 
                                                      अथवा 

हरयत क्रांतत: HYV फीजों के संमुक्त उऩमोग औय उवथयकों के फढ़त े

उऩमोग औय लसचंाई की ववकलसत तकनीक द्वाया खाद्मान्न के 
उत्ऩादन को हरयत क्रांतत कहा जाता है I इसके कायण खाद्मान्न 

ववशषेकय चावर औय गेहंू के  उत्ऩादन भें ववृि हुई । 
स्त्वखणथभ क्रांतत: फागवानी पसरों के उत्ऩादन भें तेजी से ववृि जैसे पर, 

सष्ब्जमां , पूर आदद को स्त्वणथ क्रांतत के रूऩ भें जाना जाता है। इसन े

पर, सष्ब्जमों, पूरों, भसारों आदद के उत्ऩादन भें ववृि की । 
29 ( i ) लशऺण संस्त्थानों की उऩरब्धता के कायण तनमलभत वेतनबोगी 

कभथचायी ग्राभीण ऺेरों की तुरना भें शहयी ऺेरों भें अगधक हैं। 
जैसे उन्हें अऩने कौशर के फेहतय अवसय लभरत ेहैं ।  
( ii) जफकक, ग्राभीण ऺेरों भें, अगधकांश रोग तनयऺय हैं औय उनभें कौशर 

की कभी है, ष्जनकी तनमलभत योजगाय के लरए आवश्मकता है। 
 

 

3 

30 सयकाय के व्मम औय याजस्त्व नीततमों भें सुधाय के लरए याजकोषीम 

नीततगत सुधाय ककए गए थे । तनम्नलरखखत कदभ उठाए गए थे : 

(a) कय सुधाय: कय दयों को कभ ककमा गमा था, कय चोयी को योका गमा 
था औय प्रकक्रमाओ ंको सयर फनामा गमा था। 
(b) अनावश्मक खचों भें किौती कयके सयकायी खचथ ऩय अकुंश रगामा 
गमा। उधाय कभ कय ददए गए औय सबी घािे वारे सावथजतनक उऩक्रभों को 
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फंद कय ददमा गमा। 
(c) फजिीम घािे को कभ कयन ेके लरए PSU भें ववतनवेश शुरू ककमा गमा 
था। 

31 आमात प्रततस्त्थाऩन नीतत का उदे्दश्म घयेरू उत्ऩादन के साथ आमात को 
प्रततस्त्थावऩत कयना है । उदाहयण के लरए, मदद ववदेश से वाहनों का 
आमात ककमा जाता है, तो उद्मोगों को उन्हें बायत भें ही उत्ऩादन कयन ेके 

लरए प्रोत्सादहत ककमा जाता है। 
इसे बायत भें राग ूककमा गमा था क्मोंकक सयकाय घयेरू उद्मोगों को 
ववदेशी प्रततस्त्ऩधाथ से फचाना चाहती थी। मह भान लरमा गमा था कक मदद 

घयेरू उद्मोगों की यऺा की जाती है, तो व ेसभम के साथ प्रततस्त्ऩधाथ कयना 
सीख जाएंगे। 
                               अथवा  
हां, सयकाय की नवयत्न नीतत न ेबायत भें सावथजतनक ऺेर के उऩक्रभ के 

प्रदशथन को फेहतय फनान ेभें भदद की है। सयकाय न ेकुि 

भहत्वऩूणथ सावथजतनक ऺेर (राब कभान ेवारे) के उऩक्रभों को ववशषे 

अगधकाय देने का तनणथम लरमा  औय उन्हें नवयत्नों का दजाथ ददमा गमा 
 । इन नवयत्नों को कंऩतनमों के काभकाज भें ववत्तीम औय ऩरयचारन 

स्त्वामत्तता प्रदान की गई थी। कुि PSU भें IOCL, BPCL, ONGC, 

SAIL, BHEL, NTPC, MTNL, GAIL आदद हैं। 
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32 चीन बायत की तुरना भें औद्मोगगक ऺेर ऩय अगधक तनबथयता यखन ेभें 
सपर यहा है । मह होन ेके कायण है 

( i ) GLF, 1958 भें चीन भें शुरू ककमा गमा एक अलबमान था जो देश के 

व्माऩक औद्मोगगकीकयण ऩय कें दद्रत था ।  
(ii) 1978 भें सुधायों की शुरूआत औय औद्मोगगकीकयण न ेचीन के 

ववतनभाथण तनमाथत को फड़ा आमाभ ददमा । 
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33 तनम्नलरखखत सुझाव हैं। 
1. गैय- कृवष योजगाय के अवसयों का सजृन ककमा जाना चादहए । 
2. ग्राभीण रोगों के फीच सयकाय द्वाया शुरू ककए गए कामथक्रभों के फाये भें 
जागरूकता  राना  चादहए ।  
3.रघ ुऔय कुिीय उद्मोगों का ववकास ककमा जाना ककमा जाना चादहए । 
 4. ग्राभीण रोगों को तकनीकी ऻान प्रदान कयना चादहए।  
(संक्षऺप्त वववयण के साथ ) 

 

                                               अथवा 
कायक जो बूलभ ऺयण के लरए उत्तयदामी हैं: 
(a) वनों की किाई के कायण वनस्त्ऩतत की हातन 

(b) ननयिंिय ईंधन रकड़ी औय र्ाया ननकास़ी 
(c) कृवष बूलभ का दसूये कामों भें स्त्थानांतयण  
 (d) वन बूलभ भें अततक्रभण 

(e) जंगर की आग औय अगधक चयाई 

(f) गैय ऩमाथप्त भदृा संयऺण उऩामों को अऩनाना 
(g) अनुगचत पसर चक्रण 

(h) कृवष यसामनों जैसे उवथयकों औय कीिनाशकों का अधंाधुधं उऩमोग 

( i ) लसचंाई प्रणालरमों की अनुगचत मोजना औय प्रफंधन 

(संक्षऺप्त वववयण के साथ कोई बी िह) 
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34 (a) गरत: बिदिश शासन से ऩहरे बायत की अथथव्मवस्त्था एक 

स्त्वतंर, सभिृ औय आत्भतनबथय अथथव्मवस्त्था थी। 
(b) गरत: ऑन-द-जॉफ-प्रलशऺण भानव ऩूंजी तनभाथण का एक स्रोत है 

क्मोंकक मह िलभकों के कौशर औय दऺता को फढ़ाता है 

औय उत्ऩादन औय उत्ऩादकता भें ववृि की ओय जाता है 

 

(c) सही: कोमरे को एक गैय- नव़ीकयण़ीम ऊजाथ स्रोत के रूऩ भें वगीकृत 

ककमा जाता है क्मोंकक इसे फनन ेभें राखों वषथ रगत ेहैं।    

2 + 2 
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